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Warm Up ¢
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Given: DF bisects CE, DC = DE
Prove: ACDF = AEDF E

S #adements fReas... s
DE !w's"fs?e

<
S D(—OE s

S FE > | Def ok Didectr

—-— /

S o c’T’-? Reflexve
“ACDFs bEnF\ AN

4-4  SAS and HL Triangle Congruence

SAS Congruence Postulate -

A= LN

HL Congruence Theorem -
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Ex 1 Write a two-column Mproof.

Given: MP = NP
Op bisects ~MPN
Prove: AMOP = ANOP
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Ex.2  Given: Zbisects Qx X P
Z bisects PY
Prove: AXYZ = AQOPZ
Z
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Ex3  Inthe diagram, R is the center of the circle.
If ~SRT = ~UR7T what conclusion can you make?
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Ex4  Write a two column proof.
Given: Xy =7V
YW 1 X7 wi H v
Prove: AXYW = AZYW
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Ex.5 Given: IM =~ LM
Prove: AJKM =ALKM K M
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